The accelerated frame in the curved time-space in the general
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ABSTRACT
In the general relativity theory, defines the accelerated frame that moves in / -axis in
the curved time-space. And calculates the curvature tensor of the accelerated frame in
the curved time-space.
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I.Introduction
This theory’s object is that defines the accelerated frame that moves in 7 -axis in the curved time-space.

The Schwarzschild solution is
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In this time, a moving matter’s acceleration is & in the Schwarzschild time-space.
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ao % = 0, the solution is
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In this time,
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Il. The tetrad in the curved time-space

The tetrad ed;, is the unit vector defined by the following formula.
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In this time, if a matter moves in 7 -axis in the curved time-space,
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77&'39&6(7)9/}0 (T) =N = -1 (8)
grt =Ly dieax”
c

1ax“,, 1 ax’

_ _ @ . B
- —1= n“ﬂ(E o7 E?) = 77(2,39 o(z)e’s () ©)
According to Eq(5),Eq(9)
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About X2-axis’s and X °-axis’s orientation
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And the other vector 6"%1(2') has to satisfy the tetrad condition, Eq (6),Eq(7)
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Therefore, the Lorentz transformation B&ﬁ(V) is
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I11. The accelerated frame in the curved time-space

About the accelerated frame & in the curved time-space,
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In this time, in Eq(10),Eq(11),Eq(12), ifuses £° instead of 7,
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If calculates the curvature tensor /7. ... s (f) ,
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IV. Conclusion
In the general relativity theory, defines the accelerated frame that moves in / -axis in the curved time-

space.
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